ENVIRONMENTALISM

INTRODUCTION

Porrit believes that "Any economy premised on the permanent expansion of production and consumption must eventually exhaust its resources and destroy its own life-support systems."  Recent article in the Daily Telegraph.  He curiously went on to cite Africa as an example.

1)
I want to take issue with a number of views of the greens - and to be honest - views held by not only the greens. I want to argue - contra Porrit - that there can be permanent expansion of production and consumption.

2)
Three topics:  Population, pollution and so-called natural resources

a) Rising population is no problem

b) Pollution need not be a problem

c) No shortage of resources exists, or is ever likely to exist

POPULATION

A)
POPULATION issue in its present form becomes important after the publication of Ehrlich's book - the population bomb in the late sixties. Curious case of doom laden predictions - William and Paul Paddock produced a book which forecast world famine by 1975 - which would presumably mean drop in World population.  It has not happened! Ehrlich more alarmingly thought that England would not exist in the year 2,000.  Not Maastricht, but small overpopulated island with few resources.  It looks as if we will survive by golly – Tony Blair permitting.

B)
England relatively densely populated - also Holland and Hong Kong.  No trouble supporting a population.

Those countries with hunger problems are Somalia and previously Ethiopia.  Why?  They are not densely populated.  They are at war.  People who turn to destroying capital and labour by war may expect to suffer the consequences.  There was starvation in Central Europe in 1945/6.  There may be starvation in Iraq in 2007 - civil war.  No correlation between pop density and hunger.  Economic condition of the people - not the number of them.

C)
There is a glut of food in the world.  American and European farmers are being paid to take land out of production.  Long run trend should be no different.  Plant and Animal cycle shorter than that of the human. Their populations can outpace humans. Knowledge of agricultural techniques can be improved.  

Such is the present world that the media have decided that the major problem in the world is obesity.  Two-thirds of the world were starving.  Now we are told that that there are officially more obese people than starving people in the world.

Fraction of photo synthetically active radiation that falls on Earth's surface which is converted to stored energy by PS in biosphere.  i) half reflected back by clouds and gases.  ii) Of rest only 50% in spectral region which can bring about PS.  iii) 40% reflected by ocean surface, deserts etc.  40% of organic matter synthesised by plankton near surface of ocean.  

0.2% of radiation utilised by flora on earth.  Of this less than 0.5% is consumed as nutrient energy by mankind.  i) Small amount of sun's energy utilised by plant life.  ii) Small amount of plant life utilised by humans.  Plenty of scope for improvement.  Energy of the Sun is nowhere near being fully utilised.  No risk of long term starvation.

D)
Limiting of population is damaging.  Advanced countries because they are the most productive.  Poor countries because the more primitive rural economies may depend on extended families.  Work in the field/help aged relatives.  China - if one child per family, what is position 40 years from now.  Too few producers. 

Indications that world population is tending towards stabilisation.  2100 pop will be 10 billion.

E)


i) 
Benefits of economies of scale.

ii)
Benefits to knowledge.  If there is a cure to the AIDS virus to be found will it come from US, France, UK or Luxembourg, Austria.  Innovations spread around the world.  

POLLUTION

A)
Pollution defined as unwanted side effects of economic activity.  Greens choosing the ground here.  What about other environmental pollution - bacteria, freezing cold, disease of all kinds etc.  These were at one time dangerous but knowledge and wealth have rendered them insignificant e.g. Sri Lanka and malaria.

B)
Lets take Green definition. Always possible to point to some scare.  More danger from food additives than 100 years ago - but less food poisoning.  More danger from airplanes - but air accidents are falling per passenger mile.  So too for motor cars.

C)
Average life expectancy is growing in Advanced and developing world.  Can pollution be worse than the economic benefits?

D)
Economic advance does not necessarily mean more pollution.  Killer smogs in London have gone with the introduction of central heating.  Cars - lead out of petrol.  The introduction of computer changed the composition of the economy in this country.  People still bemoan loss of industrial base, but grew up around people who worked in coal mines and textile mills - no bad thing.

E)
What if technological innovation does bring damage?  Take the damage now in return for the growth.  Alternatively, limit the pollution and the economic growth - though, as pointed out all growth is not polluting - and may be the opposite.

F)
Same for natural resources - they can be costed like pollution. i) Ozone Layer. ii) Global Warming - Scepticism is the watchword here.  Rain forest is not the lungs of the world.  Oceans are the lungs of the world.  They produce more oxygen than trees.

G) Global Warming.  Human emission of carbon dioxide and methane will result in significant warming in the next 100 years.  This has become a vehicle for man political agendas: a) anti-oil b) anti-car and transport c) economic growth.

H) Critics of Global warming are called climate change deniers.  In fact the opposite is true.  It’s the “global warmers” who want to deny that climate change is the norm.  They call this climate sustainability.

I) Humans affect the climate and always will.  But it’s not just industrial emissions.  Agriculture affected the reflectivity of the earth.  It’s not clear that human intervention has made the world warmer.

J) Can we possibly produce predictable climate change by adjusting at the margin, one politically selected human variable – carbon dioxide?  

Factors affecting climate:

Cosmic ray flux;
 Solar magnetic cycles;
 Sunspot cycles;
 Meteorite impacts;
 Cosmic dust;
 Changes in the Earth's orbit around the sun;
 Changes in the angle of tilt of the Earth upon its axis;
 Shorter duration 'wobbles' of the Earth upon its axis;
 The changing shape of the Earth [the Earth's mean dynamic oblateness parameter (J2)]; 
 The changing rotational velocity of the Earth's core;
 Changes in the Earth's magnetic field;
 Tectonic movements of the Earth;
 Volcanic eruptions;
 Changes in the circulation patterns of the oceans;
 Changes in ocean salinity and chemistry;
 Changes in ice-sheet stability (the mass-balance of glaciers);
 Changes in sea-ice thickness;
 Changes in atmospheric water vapour, the most important 'greenhouse' gas of all;
 Clouds and cloudiness;
 Natural variations in atmospheric gases, including carbon dioxide and methane
 Changing albedo (reflectivity of Earth) through landscape change, natural and human;
 Overall surface radiative energy fluxes;
 Vegetation, agricultural and industrial fires and their emissions;
 The emission of aerosols, both natural and human;
 The emission of tar balls;
 Human-induced emission of 'greenhouse' gases;

K) Conservationist and green guru Professor David Bellamy has recently called ‘global warming’ poppycock.  

L) Max Planck Institute has identified changes within  the sun as a more significant factor.

RESOURCES

A)
Beginning of wisdom is to see that the earth is finite but resources are infinite.  This will sound paradoxical and counter-intuitive, but is nevertheless true. Greens have a bigger paradox to account for.

B)
Before I come on to the explanation, I would point out that inconvenient facts remain unexplained by the Greens and others.  Why has the price of raw materials been falling over the long term?  I make allowance for wars and cartels by the use of  ‘long term’.  Why are the reserves going up - tin, manganese, lead, copper you name it.  US geological survey. P34 Simon.  1950-1970.

C)
What is wrong?  LIMITS TO GROWTH - Meadows uses idea that Aluminium is running out.  Known reserves divided by present consumption to show that Aluminium, the world’s most common mineral will run out in 49 years. He only counted high-grade bauxite.

SYMBOL 183 \f "Symbol" \s 10 \h
We do not know what the reserves in earth of a particular mineral are because we have not found it necessary to know.  It's not worth finding out.  Reserves grow with the demand for them. Figures are out of date.

SYMBOL 183 \f "Symbol" \s 10 \h
Substitutes can be found when price rises.  Two American economists believe in infinite substitutability.  Resources are the services that can be used - not the raw material.

SYMBOL 183 \f "Symbol" \s 10 \h
When New World was opened up, new resources become available for Europe.

E)
Embarrassing errors by forecasters.  Jeavons forecast UK running out of coal in 1860s.  Still going strong.  Price it costs to extract coal.

Paley Commission of US president 1952.  Noted that resources grew more abundant between 1890 and 1940.  Less so between 1940 and 1952.  Drew the wrong conclusion.  Club of Rome limits to growth and Oil scare that inspired the Mad Max films but not much else of any worth.  American Geologist Kirtley Mather 1944 "Mother Earth's storehouse of goods is far more richly stocked with goods than is ordinarily inferred. 

EXAMPLE OF OIL

“What will we do when the pumps run dry?”  Ehrlich.

1.
Oil:  Measure potential of a well at moment though in future, well may be more richly endowed (compare with mine).  We do not know the number of mines which may be drilled. Calculations of Oil reserves in 1950 would have failed to consider North Sea Oil.

2.
Suppose we do know.  What about the technology of 100 years hence.  What about shale oil and tar sands - at present uneconomic.  In fact, BP thinks they can make money out of them if price stays above $50 a barrel.

3.
Conversion of Coal to oil to be included.

4.
Oil from crops, palm oil etc.  Sun's energy only limit to this.  

5.
Sun power and nuclear power are substitutes - the services are what we want.  IF we get the electric car, the economics of oil will change dramatically.

6.
Sun will run down, but there are other Suns elsewhere.

CONCLUSION

A)
NATURAL DISASTERS.  Ice age only 10,000 years ago.  Present climate may be an interlude

B)
Earth's magnetic forces change every 150,000 years or so.  Protect earth from damaging radiation.

C)
The great extinctions.

D)
Sun eventually burns out.  

Man cannot prevent these things happening but may be able to prevent their worst effects.  Only species which looks as if he has a chance.  The Ark analogy.
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